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(D A guitar string 80.0 cm long has a mass density of 3.0 g/m. What is the velocity of waves on the string in
mvs if the string tension is 87 N?
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© Find the speed of a wave propagating down a 500 meter long rope hung over a cliff at any distance y av= \I'Iffﬂl' -vlg

au:wnthemrpe. The mass density of the rope is 0.5 kg/m. b.v=_[2gy
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If y=0.02sin(30x — 400t) (S1 units), the velocity of the wave in m/s is HIEEIM§|§§|§§ =
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For the wave described by y ={].155m[{%](21 - Hﬂ‘r (51 units), the maximum displacement in m closest to ?:
the origin at time ¢ =0 occurs at x= d. f}
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When thereisanodeat x=0m,a maximum amplitude on a standing wave of wavelength occurs dat x= PO SN [wee|in
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@ . The longest wavelength that a standing wave can have on a stretched string of length L is c 5L
d.7L.
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Two harmonic waves are described by: y; = 30sin(4x - 700t) rad] and y, = 3.0sin[(4x - 700t - 2) rad].  ¢.6.0

What is the amplitude of the resultant wave? 52
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@  Two harmonic waves are described by: ¥, = 7sin(5x ~ 100¢) and y; = 7sin(5x ~ 100t - 2). What is the phase c2
in rad of the resultant wave when x =1 =07 d.1
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h:u harmonic waves traveling in opposite directions interfere to produce a standing wave described by b.0.25
¥ = 2sin(4x)cos(3t) where xis in m and ¢ is in 5. What is the speed in m/s of the interfering waves? .;: 1:3
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@ The wave functions of two sound waves in air are ¥ = ﬁ.-:‘.lsin[ Al r+ —3-1]4]] nm and
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y; =60 A‘[—-nTx - —5—1] nm. What is the displacement in nm of the air molecules that have the c.0
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equilibrium position x =0.030 m when t=50s? e. +388

@ The figure below shows wave crests after a stone is thrown into a pond.

The phase difference in radians between points A and C is
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Y, = 3,0 slu(éx-anoé) Y2, =Fe su(4x=7root —L)
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